=LPDB

*UXSD 5R]NiDG :)O 3 7\J
7\G]
6SHFI QDXF] 8FIHE H
VSHFIDIQ\PL SRII] HGXN Z
VAVI RGZIDIN GU *XGD
= RIHID =DICFLD RQ UlQH
)$0 / 1-%
)30 = (0o
(0o €
o €
=z :)O0 z :)O0
= - 8&.81$0
a 86 8&.8130 86
=
% N
o
O =
% 6SHFI QDXF] 8FJHE JH
VSHFIDIQ\PL SRI] HGXN Z
VAVI RGZIDIN GU = XGD
ZIRIHID =DICFLD RQ IIQH
)30 / 1-%
)30 = (oo
(0o €
o @Go
)0 z :)O0
- 8%.81%0
86 8&.81$0 86
N N N
= \FKRZDQIH ILJ\F]QH L = \FKRZDQIH ILJ\F]QH L VSRUI Z
% )IJIRIRILD L ERFKHPLD VSRUI Z UHVRFIDI] DFiL UHVRFIDL]DFL GZ  PJU%REWD -DFHN $
=] VSRUIX Z SURI GU KDE Z PJUY%REUD -DFHN =D 7N =DICFID RQ UIQH 7\J
x 31V = [HViDZ =DICFID RQ ICFIDRQUQH =) O :)o &
N IQgH =)0 = -
- I\J ]DICFID WZDig
PIQ
N
5 ~IDJQRVINND JGRIQRGFL
o Z\VUWNRZ\FK F]iRZIHND
x Z SIRI /DQJIRUI -y]HI
2 =DICFDRQUQH z) O
= I\J  ]DICFID NZDig
PlQ
N
% 6SHFIDI]DFID
= LQVIUXNIRUND
[a) SA\ZDQH Z P )
N - XEHUVNL ODULXV] =DICFL
I D RQ (LQH )o =
N3 ]DICFID WZDig
PlQ
% N
= GSHFIDILIDFID Z VSRUFIH  IHQIV Z GU
% ZRINQD -DQXV] =DICFIDRQUQH =)

o -




*UXSD 5R]NEDG

=LPDB
)0

3 7\J

6R




